S1263 One Piece Wooden Footboard and Hardware

P93, PO93E, P93M, PW93, PWI3E




S1263 One Piece Wooden Footboard and Hardware

P93, PO93E, P93M, PW93, PWI3E

Item
Number | Note

Part Number

Description

Quantity Per

Package

Assembly

Boow~v~ouooswn
>

el
N

© 00O ~NO UL b~ WwWwN

e
(BN )

12

See Chart
See Chart
1032013-NLA

1054573

#1 One Piece Wooden Footboard without Hardware
Heel Loop Hardware Packages (not shown)

NLA - Kit, Wooden Footboard Mounting Hardware
NLA - Screw, Phillips Oval Head (#10-32 x 1-1/2")
NLA - Screw, Phillips Oval Head (#10-32 x 1-1/4")
NLA - Tube, Slide - Right

NLA - Tube, Slide - Left

Plug Button, Black (3/4")

Locknut (#10-32)

Cap, End, Tube, Black (7/8")

Lock, Pad Plate, Legrest, Black

Clamp, Black

NLA - Washer, Nylon (3/16 x 7/16 x 1/8")

NLA - Link, Locking, Chrome

Kit, Wooden Footboard Mounting Hardware

NLA - Screw, Phillips Oval Head (#10-32 x 1-1/2")
NLA - Screw, Phillips Oval Head (#10-32 x 1-1/4")
Tube, Pivot/Slide, Chrome - Right (9-1/2" L)
Tube, Pivot/Slide, Chrome - Left (9-1/2" L)

Plug Button, Black (3/4")

Locknut (#10-32)

Cap, End, Tube, Black (7/8")

Lock, Pad Plate, Legrest, Black

Clamp, Black

NLA - Washer, Nylon (3/16 x 7/16 x 1/8")

NLA - Link, Locking, Chrome

1

PR RRPRRPRPRRPRRPRPRRPRRPRPRRPRPRRPRRPREPRPRREPRERRER

1

P WONREPENANRPRWOWRRPRERPONRENANERRWIER R R

NOTE: A - Not Shown.
B - Includes items 3-12 and used for P93, P93E, P93M and P904
C - Includes items 3-12 and used for PW93 andPW93E only.

#1 One Piece Wooden Footboard without Hardware

Footrest-
Footboard w/
Heel Loop Holes
Part Number

Footrest-
Footboard w/o Chair Footboard
Heel Loop Holes Width Width
Part Number

Footboard
Depth




S1263 One Piece Wooden Footboard and Hardware

P93, PO93E, P93M, PW93, PWI3E

#1 One Piece Wooden Footboard without Hardware

Footrest- Footrest-
Footboard w/ Footboard w/o Chair Footboard Footboard
Heel Loop Holes Heel Loop Holes Width Width Depth

Part Number Part Number

1034245-NLA 48247X003-NLA 14" 11-5/8" 6"
1034247-NLA 48247X001-NLA 16" 13-3/4" 6"
1034249-NLA 48247X000-NLA 18" 15-9/16" 6"
1034251-NLA 1031913-NLA 20" 17-1/2" 6"




S1263 One Piece Wooden Footboard and Hardware

P93, PI93E, P93M, PW93, PW93E
Heel Loop Hardware Packages (not shown)

(All hardware is included to attach heel loops to footboard.)

Package

Chair Width Part Number Includes

2 each Heel Loops
4 each Screw,
PPH (1/4-20 x 3")
14-15" Wide 1033904-NLA 4 each Spacer
(1/4 x 11/32 x 1-3/4")
4 each Locknut
(1/4-20)

2 each Heel Loops
4 each Screw,
PPH (1/4-20 x 3")
16"-24" Wide 1033905-NLA 4 each Spacer
(1/4 x 11/32 x 1-3/4")
4 each Locknut
(1/4-20)




